
2007-10 TAHOE / SUBURBAN / 2007-10 AVALANCHE 1500
BULL BAR  PART# B35-4003 / 35-4003 

 
 INSTALLATION INSTRUCTION 

 
PARTS LIST 
(1) BULLBAR 
(2) BRACKETS (DR.-PASS.) 
(6) 7/16X1 ¼ HEX HEAD BOLTS 
(6) 7/16  HEX NUTS 
(12) 7/16 FLAT WASHERS 
(2) 1/2X4 ¾   HEX HEAD BOLTS 
(2) 1/2   HEX NUTS 
(4) 1/2  FLAT WASHERS 
 
                                          
PROCEDURE 
 
1. REMOVE CONTENTS FROM BOX AND CHECK FOR DAMAGE. VERIFY 
ALL PARTS ARE PRESENT. READ INSTRUCTIONS CAREFULLY. 
 
2. REMOVE FRONT LICENCE PLATE AND LICENCE PLATE BRACKET. IT IS 
NOT REQUIRED BUT STRONGLY RECOMMENDED. IF LOCAL/STATE LAW 
REQUIRES A LICENCE PLATE, LICENCE PLATE KIT  IS AVAILABLE.                                     
    
3. DETERMINE PASSENGER AND DRIVER SIDE BRACKETS. REMOVE TOW 
HOOKS AND PLASTIC RETAINER ( SEE FIG 1). INSERT BRACKET ONTO 
FRAME, USING 1-7/16X1 1/4 HEX BOLT 2-7/16 FLAT WASHERS AND 1-7/16 
HEX NUT. NOTE: 7/16 X 1 ¼ BOLT SHOULD BE FASTENED AT FAR END OF 
BRACKET FIRST 
 
4. INSERT 1-1/2X4 ¾ HEX BOLT 2-1/2 FLAT WASHERS AND ½ HEX NUT 
THROUGH FRONT PART OF BRACKET (SEE FIG 2.). LEAVE LOOSE 
 
5. ATTACH BULL BAR ON OUTSIDE OF BRACKETS USING 2-7/16 X 1 ¼ HEX 
BOLT 4-7/16 FLAT WASHERS AND 2-7/16 HEX NUT ( SEE FIG. 3) 
 
6. LEVEL AND ADJUST BULL BAR AS DESIRED. TIGHTEN AND TORQUE 
BOLTS. 
 
 
 
 

(Both w & w/o clad)

2007-10 YUKON 1500



Fig 1 (Passenger Side)  

Fig 2 (Driver Side) 

 

 
 

 
 
 
 
 

 

 

Fig 3 ( Driver Side)

 
 

7/16  X 1 ¼” HEX BOLT 
( BACK END HOLE) 

½ X 4 ¾ HEX BOLT

7/16 X 1 ¼ HEX BOLT



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


